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OTBeTHI K 3ajavyaM 10 TEOPHHN BepPOSITHOCTEMN

24/10!'=0,0000066.
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1/n.

1/6.

a) 1/6; 6) 0,41354; B) 0,32436; r) 0,848.

1—-CF_ /CF,
1/C488 = 4,068 - 10721,

4034133 + C3(C35)%132
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a) 77% = 0,0000595; 6) 7-* = 0,000416; B) 360 7" = 0,1499.
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2a) 1 — (1 —2)% 26) 2(1 —Inz); 2B) 22

0,5.

;2r) 1—(1-2)% 3){

22/2,
1-(2-2)2/2,
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0,25.
0,1.

0,38.
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a) Y (pi [T(1—pj)); 0
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(1=pi)i B) 1= I(1—pi).
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2-k. 2/3,

3 us 4.
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> OF(0,64)%(0,36)10-F,
k=5

(1—a3/R3)".

HeT; BEepPOSITHOCTHL I0Oeabl urpoka B pasHa 131/243.
Clk_—llpk:(l — p)i=k,

O™ (1 = p)tom,

0,0588.

0,0023.

9/19.

1—(3/4)® =37/64.

0,52.

0,5738.
20/21.

(A1 1—0'19))10 e~ M1-p).

9/16.

F(b) — F(a+0); F(b)—F(a); F(b+0)—F(a+0); F(b+0)— F(a).



51. Fx(t)=1—Fx(-t+0)VvVteR.

52. C =3.
” (at)’ (at)"?
B ot at  (at at)"™
u F(t)=0mnput<0.
54. 0.
0, t <0,
55. F(t)=<¢1—-(1-t/1)?, 0<t<l,
1, t>1.
(0, r<0wurmy <0,
0, t <0, 2?y/(2rR?), 0<x < R,0<y<2T,
56. a) F(t)=1 (t/R)?>, 0<t<R, 6) F(z,y) = ¢ y/(27), x> R, 0<y<2m,
1, t> R. 22/ R? 0<z<R,y>2m,
L1, x> R,y >2m.

57. a) P{X=—1}=P{X =1}=1/2, P{Y =—1}=5/12, P{Y =0} = 1/4, P{Y =1} = 1/3;

X+Y -2 -1 0 1 2 9 oy 9 v
%) 7/24 | 1/12 | 1/4 | 1/6 | 5/24 B) P{Y* =0} =1/4, P{Y" =1} =3/4.
/ 1
D1 (t) = / = Y2
0.1(t) Nor y
—00
0, t<0, 0, t<0,
2001 (t) =1, t>0; 2001 (Vt) =1, t>0;
0, t<—1,
+oo
Fy,(t) = . > (@071(arcsint + 27k) — &g 1 (— arcsint + (2k — 1)71')), -1<t<1,
=—00
1, t>1
0 t<0
50. F(t)=1{ =5
@0,1(1:)7 t > 0.
0, t<1,
0, t <0, t—1
60. Fy (t) = Fy,t)=< —, 1<t<3
Yl() {1€_t, t>0; Yz() 5 <t <o,

1, t>3.
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66.

67.

68.
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73.

74.

75.

76.

78.

80.

0, t<0,
F(t) =

— arcsin t,
T

1, t>1.

0<t<l,

P{Vi =k} = (1—e e ok, k=0,1,2,...;

(0, t <0,

1 —e ot 0, t <0, ot
Fy,t) =< —— 0<t<l1l Fyt)= Fy,(t)=1—e" ¢t eR.
Y2() e’ <tv <l Ya() {1_€a t, t>0; Y4()

1, t>1;

0, t <0, 0, t <0,
Fx(t)=q¢1—(2—-1)2/4, 0<t<2, Fyt)=41-(1-1t?% 0<t<l,

1, t> 2 1, t>1.

(0, t<0, 0, t <0,
Fyit)=<1-(1—t/a)", 0<t<a, Fy,(t)=1(t/a)", 0<t<a,

1, t>a; 1, t>q;

(0, t<0,
Fy, (t) = ZkC%(t/a)J(l—t/a)”*], 0<t<a,

=

1, t > a.
= 2
> P
k=1
)

0, t<0, 0, t <0,
Fxiy(t)=<1t/2, 0<t<?2, Fxy(t)=< (t+1)/2, 0<t<]1,
1, t>2 1, t>1.

0.

a)p; 6)np; B) A 1) 1/p; a) (a+0)/2; e) 1/a; X) o 3) n/a.

1/3, 2R/3.

EX =2/3, EY =1/3.

EY) =a/(n+1), EY, =an/(n+1).

ars Ne 73: a) p(1 —p); 6) np(1 —p); B) A 1) (1—p)/p% a) (b—a)?/12; e) 1/a?; x) o2

3) n/a?;
Ars Ne 74: 12/12; R?/18;

Ast Ne 75: DX =2/9; DY =1/18;
arst Ne 76: DYy = DY,, = na?/(n + 2)(n + 1)2

0.



81. a)1/(k+1); 6)n(n+1)-...-(n+k—1a"k
82. -0,5.

83. 3/4/107 = 0,29.

84. 0.

85. 1/v/2=0,7071.

86. a)0; 6)2/v/5=0,8944.

87. 0.

88. .

90. ®g1(—3) =0,00135.

91. a) 1 — ®o (7,77) < 0,00000000099; 6) 0,5, 113 py6aeir.
92. 0,135; 104.

93. a) 0,5 6) ®g1(2) = 0,977.

94. 0,697; 35-106,

95. 0,44.

96. (3394; 3606).

97. 5.4.

98. (3,52; 3,88).

99. (1397 1483); 625.

100. 0,079.



